H & 0l & AHS B Ml A

S| AR
HEEQ WEAEA HE =&
CHEHATH TAIHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSJ|[2=7 X1 42,411,527 11,102,118 31,309,409
= 28,911,527
= 13,500,000
Ol HEAEA A4 =& 35,840,557 0 35,840,557
== 22,340,557
= 13,500,000
CHEAM ZAIAE 35,840,557 0 35,840,557
= 22,340,557
= 13,500,000
CHAMEAAE SR X2 & EE 2,880 0 2,880
203 HR=H] 2,880 0 2,880
03 A=A 2= 2,880 0 2,880
OEFAMEZAIAE AIHHRFA 2,880
SHSEAUZAl NSAXSHMEE K2 1,789,565 0 1,789,565
308 AHAIEMSOIE 239,565 0 239,565
183 S| 2SO ZB XA AIE 239,565 0 239,565
OSHEHAUEAl NSERXSHEE HE2H
gl E8=2 239,565
403 AXIEHHSAH=201H 1,550,000 0 1,550,000
02 S 2SS0t et =& 2 EF A I 1,550,000 0 1,550,000
OSHSHAIZAl NSRSt HES HE NS
el 2gd| 1,550,000
S0S3 FdlA 27,091,000 0 27,091,000
= 13,591,000
= 13,500,000
401 AIEHIX R0 27,091,000 0 27,091,000
=S 13,591,000
= 13,500,000
01 AlZ8| 25,731,000 0 25,731,000
O2W=2 HUIAE 25,731,000
[ 12,831,000
= 12,900,000
02 Zeltl 1,350,000 0 1,350,000
OS0sd SHIAY 1,350,000
= 750,000
= 600,000
03 A2 = THHI 10,000 0 10,000
O2W=2a HHIAE 10,000
SH32 S3SAME F& 88,000 0 88,000
201 2= 48,000 0 48,000
01 AtR2t2lt] 18,000 0 18,000
Os0sd &35t 001X &= 18,000
03 Ar=EHI 30,000 0 30,000
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M S3FQ WEASA 28 =&
Bel: SEAN SAIA4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ0S2 E33 MY =& HA2E 30,000
308 AXIMSOIA 40,000 40,000
18 SIS0t HAS A 40,000 40,000
OS0SY B3 A AR 22 40,000
A e Hel ZEAY 3,307,200 0 3,307,200
401 Al HIZ R 0HbI 3,307,200 3,307,200
01 AlZ8| 3,297,200 3,297,200
OXgle Hel =4 Atg 3,297,200
03 A2 20HHI 10,000 0 10,000
OXgle Hel =4 At 10,000
SMSE2 22 WA 3,561,912 3,561,912
401 AlEHIZ 2018 3,561,912 3,561,912
01 Al&H| 3,551,912 3,551,912
O2lzaz2 822 HEAE 3,551,912
03 AlZ 2 THHI 10,000 0 10,000
OSHSEZ 22 WA 10,000
INEFaa=d) 6,506,930 8,738,200 A2,231,270
S3I|20IE X 1,506,930 535,960 970,970
S3I|20I& XA 906,930 520,960 385,970
201 Ler=23 | 359,550 305,000 54,550
01 AtR2te|Hl 309,550 205,000 104,550
O0ldE3I12 82X 29 5,000
Os3J1& *FXAAA 304,550
03 A2 I 50,000 100,000 250,000
O383J1& |FXIXH 50,000
202 04l 18,000 7,200 10,800
01 2LHoIH 18,000 7,200 10,800
Os3J1& FXIXH 18,000
203 HR=AH] 2,880 2,880
03 A=A PR FA| 2,880 2,880
OSHSUZAl HRFA 2,880
301 Eet2 NS 3,500 8,760 A5,260
11 AALAHIXIES 3,500 8,760 25,260
O83J1& SXIHAL ZAXF AHIX2 3,500
308 XXM SOIA 523,000 200,000 323,000
01 AXNB 2 LS 10,000 0 10,000
OF0 s3J1& Rl 8234 MH 10,000
18 SIS0t oA AS A 513,000 200,000 313,000
Os3J|& FXIXEH 458,000
OSHSUZAl cUe BHQ! 55,000
LHEZASEAl EAIZ 2 THEHI 600,000 0 600,000
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